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(3)

In tractors, the lubrication system used
IS :

(A) forced feed system

(B) splash system

(C) manual system

(D) All of the above

In seed drill, the furrow opener is

generally :

(A) shovel type
(B) shoe type
(C) disc type

(D) All of the above

Engine system consists of :
(A) Fuel supply system
(B) Cooling system

(C) Lubrication system

(D) All of the above

In seed drill, the function of the boot is

to:

(A) receive the seed from seed tube
(B) open the furrow
(C) cover the seed

(D) dropping seed into seed tube

Set-C
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(4)

Which of the following is the part of
water cooled engine ?

(A) Fins

(B) Radiator

(C) Carburettor

(D) Spark plug

Performance of furrow openers is

measured in terms of :

(A) depth of seed placement
(B) row spacing
(C) plant spacing

(D) seed rate

In hydraulic system of tractor, the pump

and its components are placed on :

(A) rear axle of the tractor
(B) front axle of the tractor
(C) P.T.O.unit

(D) flywheel of engine

Calibration of seed drill is done to :
(A) setseed drill for correct seed rate
(B) set it for row to row spacing

(C) setit for plant to plant spacing

(D) set it for correct speed
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9. 3O U WHhS gail M BT o @ - 9.  Inengine white smoke indicates :

(A) &d I o Rifever # Ter (A) burning of lubricating oil in the
cylinder
(B) U9 H UM @I BT (B) presence of water in the fuel
(C) SO &I 3MANATSE BT (C) that engine is overloaded
(D) U9 U4 gAT BT QT A0 BT (D) richer mixture of fuel and air
10. Wre fgd § S w9 @7 o © 10.  The function of dog clutch in seed drill, is
to:
(A) T W I HAT (A) control the speed
(B) Ra@mg R FEF0 &Rl (B) control the draft
(C) &3 &I TEIg W FI (C) control depth of furrow
(D) TS UfRy B G (D) disengage the drive wheel

11. SMT dofd MR ©Y 9 $RA f6ar 11. Dog clutch is generally used in :

ST &

(A) T&F ¢qex H (A) farm tractor

(B) ¥ H (B) scooter

(C) TR feer # (C) power tiller

(D) SUYa H A Bl 7l (D) None of the above
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13.

14.

15.

BRR BT I & :
(A) %9 B T ATHR & &l 4§ drel

(B) &I @I A8 T HW VHAAH wY |
DT

(C) fos®E arel uerd &f PRI e

(D) Suda Wl

SFR B [SHR™A Td Aferd ufedl & 9
o IR Re®wM 18 ol bed @ :
(A)  BIgTd glgd

(B) Ra¥ amgser

©) fewRrra df®

(D) T R

PR BRI Tl 97l ©

(A) TAd D YIe W TGN

B) Ru

(C) TIH
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SO @1 T A o §
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Y I |

(A)
(B)
(©)
(D)
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(6)

12.

13.

14.

15.

The functions of sprayer is to :

(A) break the liquid into droplets of

effective size
(B)

distribute the droplets uniformly

over the surface

(C) regulate the amount of spray
materials

(D) All of the above

A gear reduction unit between differential
and drive wheels of the tractor is referred

toas:
(A)
(B)
(©)
(D)

final drive
reverse idler
differential lock

timing gear

Rocker sprayer is operated by :

(A)
(B)
(©)
(D)

keeping on the back of the operator
foot
hand

motor

Revolution of engine is measured by :
(A) dynamometer
(B) tachometer
(©)

(D)

watt meter

stop watch
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16. 9fdd Arferd BITH IWYF Bl @ - 16. Power operated sprayers are suited for :

(A) S &l g (A) larger areas
(B) fobe T T (B) kitchen garden
(C) R = (C) orchards

(D) SWa &l (D) All of the above

17. 3o Ao’ ¥ el gz 9 Marer @ 17. The process of removal of burnt gases

ha7 FEard) 2 from the engine cylinder is called :
(A) AT (A) scavenging
(B) SUBEE (B) detonation
(C) Hifep (C) knocking
(D) <& (D) combustion
18. ®Y &9l &7 Afd-a1ford SR ARl 18. Power dusters of small capacity are
IR generally mounted on :
(A) TR R (A) Tractor
(B) U feeR W (B) Powver tiller
(C) dedd & Yls W (C) Back of the operator
(D) Suga Tl (D) All the above
19. TIfUTel® ufedr 91 B B 19. Flywheel is made of :
(A) DRC 3TgR DI (A) Castiron
(B) UgAFTH Tallg &1 (B) Aluminium alloy
(C) B3 BT TId & (C) High carbon steel
(D) Suga Tl (D) All of the above

Ag-303 (7) Set-C



20. PHIGT & B A TII Gl B 20. While working, the standing crops are

HHIET @ el IR B RE el ) pushed to the cutter bar of combine by :
g

(A) TR ENT (A) header

(B) el gNI (B) reel

(C) ®F®d gRI (C) concave

(D) FUW ENI (D) conveyor

21, 9H Ufdd S~ A Bl <M § Hodl- 21. For same power output, a multicylinder

RIFTR &1 g @ RIETR o @) engine as compared to single cylinder
S engine is :
(A) R BT § (A) heavier
(B) Bchl BIT & (B) lighter
(C) THM ¥R &I 2l & (C) same weight
(D) SUYa H H IS Tl (D) None of the above
22. Sfelis JTR TeT WA & : 22. An olpad thresher is operated :
(A) 3eH grT (A) Manually
(B) TH SISl dc1 §NT (B) by a pair of bullock
(C) SFX BRI (C) by atractor
(D) fdggd HeR &R (D) by an electric motor

Ag-303 (8) Set-C



23.

24,

25.

e e d doex @1 Rfgg FE @
ST ¥ GUR W T @

(A) BT @A |

(B) S AHR & TRR ¥

(C) <fiRad o e

(D) STda # & Big AL

PR o Rifemex o 3= T | B dren
A

(A) 3N DI &l

(B) RiieR @l vamde

(C) T=d ARMT Tl

(D) SHIE W

gac B o R @1 T few @l
qorl d 9RY BN 9 fAefr @

(A) ST HYT e

(B) 7= Huvr qeran

(C) U & A fhaer

(D) ST W

Ag-303

(9)

23.

24,

25.

The traction of tractor in wet field can be

improved by using :

(A)

cage wheel

(B)

bigger size tyre

(©)

additional weight

None of the above

(D)

A high speed of cylinder in thresher,

causes the problem of :

(A)

grain damage

(B) blockage of cylinder

(C) high threshing efficiency

(D) All of the above

Rear part of the tractor is heavier than the

front part to get :

(A) high tractive efficiency

(B)

lower tractive efficiency
(©)

less wheel slip

(D) All of the above
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26. . <L 3l W JEP Fel dleil combine  26.

Tellg S © -
(A) TR feer &
(B) gacx ¥
(C) I 3oM W

(D) SHIF W

27, W @ 9 W » Y@ H§ fiR@e 27

BB ©

(A) e deg
(B) dre deg
(C) SR
(D) et deg

28. e oM B W T woe oRew 28

gicyge Red &
(A) 8 faeell |

(B) feuR #

(C) &
(D) TUSNTE H

Ag-303 (10)

PTO assembled combine is operated by :

(A) Power tiller

(B) Tractor

(C) Stationary engine

(D) All of the above

The loss in value of a machine with lapse

of time is called :

(A) salvage value

(B) lost value

(C) depreciation

(D) resale value

Northern  Region Farm  Machinery

Training and Testing Institute is situated

at .

(A) New Delhi
(B) Hisar
(C) Ludhiana

(D) Chandigarh
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20. ¢FR o @ AT B WY T ared 29. A device which transmits the power of

T ¥ S 3 ) 9 e tractor engine to the trailing implement is
called :

(A) W (A) P.T.O.

(B) xMR (B) drawbar

C) eEgifcrd (C) hydraulic

(D) e H | DS el (D) None of the above

30. Gl HY RIS e Red ® 30. Central Institute of  Agricultural

Engineering is situated at :

(A) IARERE H (A) Allahabad

(B) U H (B) Pantnagar

(C) et # (C) Bhopal

(D) % facen # (D) New Delhi

3. U Jfad fFd gRT ST &l i H 31. A device by which, the heat is converted

uRafa fhar oaT 2 S Pag § into work, is called :
(A) BIX (A) heater

(B) HIc (B) motor

(C) T o (C) heat engine
(D) SRRGH (D) generator

Ag-303 (11) Set-C



32.

33.

34.

35.

Ag-303

B B gl g Fal B Holdd
HYele dR e URRfT TR &
Pl BB ©

(A) T feerT

(B) vy feerd

(C) feow

(D) TRPeR

T e H e B €
(A) 0.10 3% Ifea
(B) 050 3req fdd
(C) 0.75 3% Ifea
(D) 1.0 319 wfdd

fAgT Uelc &l &1 I&Y FHA YT Bl
g

(A) F&T B YR BRAT

(B) el Fre o TR

(C) TSI Fres ot dieR

(D) R @ faem

PICY T 9T 2
(A) ST 39 Bl

(B) MU g5 &l
(C) T 39 @
(D) USIAT SoI9 @I

(12)

32.

33.

34.

35.

Mechanical manipulation of soil to

provide conditions favourable for crop

growth is called :

(A) primary tillage
(B) secondary tillage
(C) tillage

(D) interculture

A man can develop :
(A) 0.10 h.p.

(B) 0.50 h.p.

(C) 0.75h.p.

(D) 1.0 h.p.

Vertical suction in a M. B. plough

influences :

(A) pulverisation
(B) depth of cut
(C) width of cut

(D) direction of pull

The carburettor is the main part of :
(A) diesel engine

(B) steam engine

(C) gasengine

(D) petrol engine

Set-C



36.

37.

38.

39.

Ag-303

M BT 36.

(A) TRIHS Tz SUER
(B) fecia Sarg SuavY
(C) 3MTeHM URER

(D) TEIHT TTHIT

39 ¥ HHIMYC T BT © 37.

(A) DI T aT=aq

(B) HPHUUC Y FHI TN

(C) HPHITC & THNKR

(D) SWH # W B &l

JIGR B W 913 B TS 998 ol 38,

g

(A) T DIV qEa

(B) fCce BV FQTdR

(C) S @ R O PR
(D) Suga H A Bl el

3o H 3ol TR TIeTT ol @ 39.

(A) DG |
(B) <R R
(C) HHIT A
(D) ST W

(13)

An indigenous plough is :

(A) A primary tillage implement
(B) A secondary tillage implement
(C) A wetland puddler

(D) A multipurpose implement

The camshaft in an engine is mounted :

(A) perpendicular to the crankshaft
(B) linclined to the crankshaft
(C) paralled to the crankshaft

(D) None of the above

Penetration of disc plough is improved
by :

(A) Increasing disc angle

(B) Increasing tilt angle

(C) Sharpening the disc

(D) None of the above

In engine oil pump is driven by :
(A) camshaft

(B) timing gear

(C) crankshaft

(D) All of the above

Set-C



40.

41.

42.

43.

Ag-303

Blec] BT FASH fHar S ¢
(A) @ &1 A

(B) e fa o

(C) v 4 e H

(D) WEIERR H

d 3o @ fifevey d Hdted @@
CEGIRE

(A)  15—25 foar /af a4,

(B) 25-35 fobuT /@ W,

(C) 35—45 foburT /@ S,

(D) 45-55 fouT /S,

dipRic v & I T 38T SWN
g

(A) TS g |

(B) dll &I dled H

(C) W aifcar & @t |

(D) W8 I URSHA HeA A

Ugell e # UG ol @l UEEH @l
SIS

(A) RifeleR & MR A
(B) dIfdd ScureH o

(C) TR TR & AR o
(D) W& T |

(14)

40.

41.

42.

43.

A coulter attachment is used with :
(A) Disc harrow

(B) Seed drill

(C) M. B. plogh

(D) Subsoiler

The compression pressure of diesel

engine inside cylinder varies from :

(A) 15-25 kg/cm?

(B) 25-35 kg/cm?

(C) 35-45 kg/cm?

(D) 45-55 kg/cm?

Offset disc harrow is best suited to work
for:

(A) Primary tillage

(B) Breaking clods

(C) Orchard cultivation

(D) Surface finishing

At first sight, a petrol engine is identified
by :

(A) Cylinder size

(B) Power output

(C) Size of the air cleaner

(D) Spark plug

Set-C



44,

45.

46.

47.

Ag-303

RJelde’ &l Uh BRI XIeRY 8l 8

(A) & Jdl5 + 3 &2

(B) U &Ie + 3 9y

(C) &dd U Sdls

(D) B U 2RIET

R ffelver §99 &1 |qferd & 8q
MR ST 81l @

(A) T W

(B) T[T e W

(C) HHAT W

(D) TN 9 W

ROR 7 JamT fomm S ¢
(A) %F H Gg T 4

(B) el g #

(C) fagr wer 4

(D) Sygad affa d=l St |

five O T T M ©
(A) R A

(B) o fud

(C) ifsa

(D) (A) 3R (B) I

(15)

44,

45.

46.

47.

One operation of rotavator does a job

equivalent to :

(A) One ploughing + two harrowing

(B) One harrowing + two ploughing

(C) One ploughing only

(D) One harrowing only

For balancing single cylinder engine, a
counter weight is added to :

(A) piston

(B) connecting rod

(C) crankshaft

(D) gudgeon pin

A ridger is also used for :

(A) making field furrow

(B) making channels

(C) earthing up

items mentioned

(D) All the three

above
A piston pin is also called :
(A) wrist pin
(B) gudgeon pin
(C) needle

(D) Both (A) and (B)
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48.

49.

50.

Ag-303

IS A & $ SR a1 Hol | bl
& 9 TN ST §7I HEA ©

(A) 9B BRI

(B) T WX

(C) 3 B

(D) WX &l

Rfrer Rifersr §o # 99 W@ a1

e BT B

(A) BT e @1 gam

(B) fUed @l fd W =01 Frell

(C) dferd qull & d/ & =YY W Iy
T

(D) (A) 3R (C) Il

g gete g1 o1 B ©

(A) DS B Bl
(B) <1 MAEI BT Yot
(C) ¥a1 B ST T YR BRAl

(D) ST W

(16)

48.

49.

50.

Open trench left between two adjacent

strips of land after ploughing is called :

(A) back furrow
(B) dead furrow
(C) open furrow

(D) furrow heel

In single cylinder engine, the purpose of

large flywheel is to :

(A) carry the load of idle strokes

(B) control piston speed

(C) overcome friction between moving
parts

(D) Both (A) and (C)

A mould board plough performs the

function of :

(A) cutting of furrow slice
(B) turning of cut soil
(C) lifting and pulverising of soil

(D) All of the above

Set-C



51.

52,

53.

Ag-303

SO B 9T Sl SHHATE Ud HAATGS DI
WERT ST & U4 Wel™ deal &, I dad
g

(A) PP dd

(B) Hd S

(C) §F S

(D) ¥4

I NI dRdfdd &3 ATIeT Bl Fed
g

(A) T &7 &

(B) &7 <eral

(C) Wglfad &= qera

(D) giftid &3 erwa

IR Rferer 9l GqEld dH

SO W Wafad e wfdd I 0T B

el

A) PLAN “n
4500

(B) PLAN xﬂ
4500 2
PLAN

© —==xD
4500 3

(D) PLAN xﬂ
4500 4

(17)

51.

52.

53.

The part of the engine which supports and
encloses the crankshaft and camshaft, is

called :

(A) Crank case

(B) Crank journal

(C) Main journal

(D) Sleeve

The actual area covered by the implement
is known as :

(A) Effective field capacity

(B) Field efficiency

(C) Theoretical field efficiency

(D) Theoretical field capacity

Indicated horse power in a 4-storke

4-cylinder engine is calculated by the

formula :

A) PLAN><n
4500

B) PLANXE
4500 2
PLAN

€ ———x1
4500 3

(D) PLANXD
4500 4
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54,

55.

56.

57,
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g @1 g8 fog o w® W gl @
aRem &1 HRaT &, S FEd ®

(A) W 3% e

(B) X 3% IR

(C) =R 3% TIUe

(D) <X 3% Ul

qed YTl ¥ PHIME T4 U Bl e
qrell 3PIS 3 :

(A) DA

(®) T

(C) Rfax 3

(D) dred R

Roe & % vqet o1 3 B R

(A) & @ TR R e o=
(B) EXIET &I TENTs MR wxe
(C) & Pl CqR ¥ ST
(D) Ra@mg @I HF BT

e b o H fIved @ g€ WX 9
P T Th AT H HHIAUC AT 2 -
1

(A) EW

(B) 15Uk
(C) o ddp
(D) 2 9%

(18)

54.

55.

56.

57.

The point at which the resultant of all
forces act in a plough, is called :

(A) Centre of pull

(B) Centre of resistance

(C) Centre of draft

(D) Centre of power

In valve system the unit connecting the
camshaft and tappet is :

(A) cam

(B) pushrod

(C) rocker arm

(D) valve spring

In disc harrow, the function of spool is

to:

(A) fix the discs on axle

(B) control depth of harrowing

(C) hinge the harrow from tractor

(D) reduce draft

In a 4-stroke cycle engine the movement

of piston from head centre to crank centre
causes the crankshaft to make :

(A) % revolution

(B) 1.5 revolutions
(C) One revolution

(D) 2 revolutions

Set-C



58. e f$o @7 MPR T fobar Fram & 58.

(A) I 3P 99§ I8 T 99 @
Cie]

(B) HIF @I RIS X Al
(C) U S&1E I9I § 9T AT &

(D) & T aTel GRUl B FE@ X @
el & A B g

59. Ud aquid, 4 RNHflUe] drel g9 § g8 59.

9 BT B

(A) 1234
(B) 1-3-2-4
(C) 1-3-4-2

(D) 1432

60. WX @ dls fgdd ¥ AN 89 W 3R 60.

g

(A) HeRT FafH

(B) R graHeN RiveH
(C) M & uley @l feormsd

(D) IV & 9T @ foumeH

Ag-303 (19)

The size of seed drill is expressed by :

(A)

(B)

(©)

(D)

Amount of seed sown per unit time

Length x width of the machine

Area covered per unit time

Number of furrow openers x
spacing between two furrow

openers

The firing order of a 4-stroke 4 cylinder

engine is given by :

(A)
(B)
(©)
(D)

1-2-3-4

1324

1-3-4-2

1-4-3-2

Planters differ from seed drill in respect

of :

(A)

(B)

(©)

(D)

Metering mechanism

Power transmission system

Ground wheel design

Seed box design

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fordd SR
e B, I B AR 3P YIM b SR |
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